
 48
1208.96

 

 12
294.07

 

 9
227.68

 

 3
76.20

 

 1
25.40

 

 75
1905

  75
1905

 1

3

EARTH
CONCRETE

GRAVEL

2

DETAIL B
SCALE 1 : 10

3

1

2

4

5

ITEM NO. PART MATERIAL QTY.

1 POST = 3" X 3" X 124" L 6005A ALUMINUM1/8" WALL, POWDER 
COATED BLACK 3

2
HORIZONTAL CHANNELS, 

INSIDE DIMENSION = 1.125" 
BACK X 1.250" SIDES X 81" 

LONG

6005A ALUMINUM 1/8" WALL, POWDER 
COATED BLACK 4

3 1" X 5.5" X 71.5"  BOARD, WOOD OR COMPOSITE 30

4

410 STAINLESS STEEL 
WOOD SCREW COATED 
BLACK MAGNI, #8 X 3/4", 

PAN HEAD WITH #2 PHILLIPS 
DRIVE

410 STAINLESS STEEL 84

5
410 STAINLESS STEEL SELF 
DRILLING SCREW, #12 X 3/4" 

FLAT HEAD WITH #3 
PHILLIPS DRIVE HEAD

410 STAINLESS STEEL 20

WEIGHT: 

TSF-7FT-RES-HORZ-SPEC
-

-

-PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

TAHOE SLIPFENCE.  ANY REPRODUCTION 
IN PART OR AS A WHOLE WITHOUT 

THE WRITTEN PERMISSION OF
TAHOE SLIPFENCE IS PROHIBITED.

COMMENTS:

SHEET 1 OF 7

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

DATENAMEDIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NEXT ASSY USED ON

APPLICATION DO  NOT  SCALE  DRAWING

FINISH

MATERIAL

REV.

A
DWG.  NO.SIZE

SCALE:1:50

TRASER 
DESIGN INC.

Tahoe Products Group Inc. 
Oakville, ON 

Phone: 1-866-336-2340 
WWW.SLIPFENCE.COM



 124.0
3149.60

 

AA

 3.0
76.20

  .125
3.18

 

 3.0
76.20

 

SECTION A-A
SCALE 1 : 2

WEIGHT: 

TSF-7FT-RES-HORZ-SPEC

6005A ALUMINUM1/8" 
WALL, POWDER COATED 

BLACK

3" VERTICAL POSTPROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

TAHOE SLIPFENCE.  ANY REPRODUCTION 
IN PART OR AS A WHOLE WITHOUT 

THE WRITTEN PERMISSION OF
TAHOE SLIPFENCE IS PROHIBITED.

COMMENTS:

SHEET 2 OF 7

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

DATENAMEDIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NEXT ASSY USED ON

APPLICATION DO  NOT  SCALE  DRAWING

FINISH

MATERIAL

REV.

A
DWG.  NO.SIZE

SCALE:1:32

TRASER 
DESIGN INC.

Tahoe Products Group Inc. 
Oakville, ON 

Phone: 1-866-336-2340 
WWW.SLIPFENCE.COM



 2.500
63.50

 

 19.000
482.60

 

 38.000
965.20

 

 19.000
482.60

 

 .688
17.46

 

 1.375
34.93

 

 2.500
63.50

 

 19.000
482.60

 

AA

 .675
17.15

 

.189
4.80

 .000
0

 

 1.750
44.45

 

 3.250
82.55

 

 19.000
482.60

 

 51.400
1305.56

 

 62.200
1579.88

 

 73.000
1854.20

 

 35.200
894.08

 

 24.400
619.76

 

 81.000
2057.40

 

 41
1031.24

 

 46
1168.40

 

 30
756.92

 

 1.375
34.93

 

 .125
3.18

 

 .125
3.18

 

 1.250
31.75

 

 1.125
28.58

 

.438
11.13

 82° 

 .246
6.25

 

SECTION A-A
SCALE 1 : 4

 2
38.10

 

 1
17.15

 

.19
4.800

 2
44.45

 

SCALE 1:1

WEIGHT: 

TSF-7FT-RES-HORZ-SPEC
POWDER COAT BLACK

6005A ALUMINUM 1/8" WALL, 
POWDER COATED BLACK

HORIZONAL 
CHANNEL 81"

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

TAHOE SLIPFENCE.  ANY REPRODUCTION 
IN PART OR AS A WHOLE WITHOUT 

THE WRITTEN PERMISSION OF
TAHOE SLIPFENCE IS PROHIBITED.

COMMENTS:

SHEET 3 OF 7

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

DATENAMEDIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NEXT ASSY USED ON

APPLICATION DO  NOT  SCALE  DRAWING

FINISH

MATERIAL

REV.

A
DWG.  NO.SIZE

SCALE:1:20

TRASER 
DESIGN INC.

Tahoe Products Group Inc. 
Oakville, ON 

Phone: 1-866-336-2340 
WWW.SLIPFENCE.COM



 74.500
1892.30

 

 5.500
139.70

 

 1.000
25.40

 

WEIGHT: 

TSF-7FT-RES-HORZ-SPEC
 -

 BOARD, WOOD OR COMOSITE

FULL BOARD, 
HORIZONTAL, 74.5"PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

TAHOE SLIPFENCE.  ANY REPRODUCTION 
IN PART OR AS A WHOLE WITHOUT 

THE WRITTEN PERMISSION OF
TAHOE SLIPFENCE IS PROHIBITED.

COMMENTS:

SHEET 4 OF 7

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

DATENAMEDIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NEXT ASSY USED ON

APPLICATION DO  NOT  SCALE  DRAWING

FINISH

MATERIAL

REV.

A
DWG.  NO.SIZE

SCALE:1:16

TRASER 
DESIGN INC.

Tahoe Products Group Inc. 
Oakville, ON 

Phone: 1-866-336-2340 
WWW.SLIPFENCE.COM



.41
10.46

NO. 3
DRIVE SIZE

 82.00° 

 .132
3.35

 
 .281

7.14
 

 .750
19.05

 

12-14 THREAD

NO. 3 
DRILL POINT

WEIGHT: 

TSF-7FT-RES-HORZ-SPEC

410 STAINLESS STEEL

410 STAINLESS STEEL SELF 
DRILLING SCREW #12 X 
3/4" FLAT HEAD WITH #3 

PHILLIPS DRIVE HEAD

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

TAHOE SLIPFENCE.  ANY REPRODUCTION 
IN PART OR AS A WHOLE WITHOUT 

THE WRITTEN PERMISSION OF
TAHOE SLIPFENCE IS PROHIBITED.

COMMENTS:

SHEET 5 OF 7

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

DATENAMEDIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NEXT ASSY USED ON

APPLICATION DO  NOT  SCALE  DRAWING

FINISH

MATERIAL

REV.

A
DWG.  NO.SIZE

SCALE:4:1

TRASER 
DESIGN INC.

Tahoe Products Group Inc. 
Oakville, ON 

Phone: 1-866-336-2340 
WWW.SLIPFENCE.COM



.322
8.18

#2 Drive

.164 "
4.17

 .750
19.05

  .089
2.26

 

#8-11 Screw Size

WEIGHT: 

TSF-7FT-RES-HORZ-SPEC
BLACK MAGNI

410 STAINLESS STEEL

#8 x 3/4" Deep Thread Wood 
Screws / #2 Phillips / Pan Head 
/ Type 17 Pt / 410 Stainless Steel

PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

TAHOE SLIPFENCE.  ANY REPRODUCTION 
IN PART OR AS A WHOLE WITHOUT 

THE WRITTEN PERMISSION OF
TAHOE SLIPFENCE IS PROHIBITED.

COMMENTS:

SHEET 6 OF 7

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

DATENAMEDIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NEXT ASSY USED ON

APPLICATION DO  NOT  SCALE  DRAWING

FINISH

MATERIAL

REV.

A
DWG.  NO.SIZE

SCALE:4:1

TRASER 
DESIGN INC.

Tahoe Products Group Inc. 
Oakville, ON 

Phone: 1-866-336-2340 
WWW.SLIPFENCE.COM



WEIGHT: 

TSF-7FT-RES-HORZ-SPEC
-

-

-PROPRIETARY AND CONFIDENTIAL

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF

TAHOE SLIPFENCE.  ANY REPRODUCTION 
IN PART OR AS A WHOLE WITHOUT 

THE WRITTEN PERMISSION OF
TAHOE SLIPFENCE IS PROHIBITED.

COMMENTS:

SHEET 7 OF 7

Q.A.

MFG APPR.

ENG APPR.

CHECKED

DRAWN

DATENAMEDIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL
ANGULAR: MACH      BEND 
TWO PLACE DECIMAL    
THREE PLACE DECIMAL  

NEXT ASSY USED ON

APPLICATION DO  NOT  SCALE  DRAWING

FINISH

MATERIAL

REV.

A
DWG.  NO.SIZE

SCALE:1:24

TRASER 
DESIGN INC.

Tahoe Products Group Inc. 
Oakville, ON 

Phone: 1-866-336-2340 
WWW.SLIPFENCE.COM


	Sheet1
	Drawing View3
	Detail View B (1 : 10)

	Sheet2
	Drawing View8
	Section View A-A
	Drawing View65

	Sheet3
	Drawing View46
	Drawing View48
	Drawing View49
	Drawing View50
	Section View A-A
	Drawing View51

	Sheet4
	Drawing View55
	Drawing View56
	Drawing View57

	Sheet5
	Drawing View61
	Drawing View62
	Drawing View63

	Sheet6
	Drawing View38
	Drawing View39
	Drawing View40

	Sheet7
	Drawing View60


